Friedman’s Theory 1956

m = f ( rb , re , 1 * dp , w, y , u )

p
             p    dt        p

rb = return of bonds



interest – change in price

re = return on equity



dividend + capital gain







re + 1  *  dp






       p      dt


1 * dp  = inflation

p    dt

w = investment in ones self, human capital, education = job training

y = permanent income 

p

u = factors that effect tastes and preferences (wars, travel, migration, uncertainty)

r are nominal rates of return

m  is stable it is predictably related to a few critical variables when these variables move    

p

Md  predictably moves

V is not constant it can change over time

Y is less flexible

There is more than one money substitute

